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ЭОР  №2
http://files.school-collection.edu.ru/dlrstore/5c9a9b61-b2d6-4be2-92bd-6748a14b
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ЭОР №3



Решить уравнение:   a·x2 + b·x + с = 0

D = b2 - 4·a·с 

D > 0 
да

D = 0 нетда

решений нет

нет
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       2·a

X
2
 =

  - b - √ D  

       2·a X =
  - b

  2·a



Решить уравнение:   a·x2 + b·x + с = 0

1) D = b2 - 4·a·с 

2)  Если D > 0, то:                          ,
  

3) Если D = 0, то  

4) Если D < 0, то решений нет.

X
1
 =

  - b + √ D  

       2·a
X

2
 =

  - b - √ D  

       2·a

X =
  - b

  2·a



Решить уравнение:   2·x2 + 4·x + 7 = 0

1) D = b2 - 4·a·с = 42 - 4·2·7 = 16 – 56 = -40   

2)  Если D < 0, то решений нет.



Решить уравнение:   x2 + 3·x - 5 = 0

1) D = b2 - 4·a·с = 32 - 4·1·(-5) = 9 + 20 = 29   

2)  Если D > 0, то:                          ,
  

X
1
 =

  - 3 + √ 29  

       2·1
X

2
 =

  - 3 - √ 29  

       2·1


